

$$r^x (1 + r^x + r^{2x} + r^{3x} + \dots + r^{(n-1)x}) = \frac{r^x (1 - r^{nx})}{1 - r^x} \Rightarrow r^x \times r^{nx} = r^x \times \frac{1 - r^{nx}}{1 - r^x} \Rightarrow r^{(n+1)x} = r^x \times \frac{1 - r^{nx}}{1 - r^x}$$

$$r^x \left(\frac{1}{r} + \frac{1}{r^2} + \dots + 1 + r + r^2 + \dots + r^{n-1} \right)$$

$$\Rightarrow r^{x-x} = r^{x-x} \Rightarrow x - r = \dots \Rightarrow x = r$$

$$(a^r + b^r - rab)^r (a^r + b^r + rab)^r = (a^r + b^r - rab)^r = \left[(\sqrt{r-1}) + (\sqrt{r+1}) - r \left(\frac{\sqrt{r-1}}{\sqrt{r}} + \frac{\sqrt{r+1}}{\sqrt{r}} \right) \right]^r$$

$$= (r\sqrt{r-1} - r\sqrt{r})^r = (r\sqrt{r}(\sqrt{r-1} - 1))^r = 17(r\sqrt{r})^r = 17(r\sqrt{r})^r \Rightarrow r = 17$$

$$(a + \frac{1}{a} + r) (a + \frac{1}{a} - r) = (a^r + \frac{1}{a^r} - r + r)^r = a^r + \frac{1}{a^r} + r = r^r$$

$$\Rightarrow a = \sqrt{r-1} \Rightarrow \sqrt{r-1} = \sqrt{r-1}$$

$$\Rightarrow (r - \sqrt{r} + r + \sqrt{r})^r = 17 = r^r \Rightarrow r = 17$$

$$= (r - \sqrt{r} + r + \sqrt{r})^r = 17 = r^r \Rightarrow r = 17$$

$$a = \sqrt[r]{r} \Rightarrow r^{\frac{1}{r}} = r^{\frac{1}{r}} \Rightarrow (rA)^{-\frac{1}{r}} = \left(\frac{1}{A}\right)^{\frac{1}{r}} = \left(\frac{1}{r}\right)$$

$$r \sqrt[r]{a} = a^{\frac{1}{r}} \Rightarrow r \sqrt[r]{a} \geq 1 \Rightarrow a = \frac{1}{r\sqrt[r]{r}}$$

$$\Rightarrow \frac{1}{a} = r \Rightarrow \frac{r\sqrt[r]{r}}{1} \times \frac{\sqrt[r]{r}-1}{\sqrt[r]{r}-1} = \frac{r(r + r\sqrt[r]{r})}{r} = r + r\sqrt[r]{r}$$

$$(\sqrt{x+a} + \sqrt{x-a}) (\sqrt{x+a} + \sqrt{x-a}) = a + r \Rightarrow \sqrt{x+a} + \sqrt{x-a} = \frac{a+r}{r}$$

$$\Rightarrow \sqrt{x+a} + \sqrt{x-a} - r = \frac{a}{r} + r - r = \frac{a}{r}$$